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1 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 201-1 1,000,000 [ 113,900 136,700 9.57 57.55 o AN 47 =y 1.7
2 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 201-2 1,000,000 77,400 92,900 6.5 57.55 o AN 47 =y 1.7
3 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 201-3 1,000,000 71,400 85,700 6 57.55 o AN 47 =y 1.7
4 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 302-1 1,000,000 [ 117,500 141,000 9 59.81 o AN 47 =y 1.7
5 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 302-2 1,000,000 81,400 97,700 6.24 59.81 o AN 47 =y 1.7
6 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 302-3 1,000,000 75,200 90,200 5.76 59.81 o AN 47 =y 1.7
7 MOj25 | O A3 241L+Z 5-8 (225 195-4) 303-1 1,000,000 [ 124,500 149,400 99 59.49 o AN 47 =y 1.7
8 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 303-2 1,000,000 75,500 90,600 6 59.49 o AN 47 =y 1.7
9 MOj25 | O A3 241L+Z 5-8 (B2 = 195-4) 303-3 1,000,000 72,500 87,000 5.76 59.49 o AN 47 =y 1.7
10 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 401-1 1,000,000 | 102,900 123,500 9 54.64 =1 AN 47 =R 1.7
11 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 401-2 1,000,000 71,400 85,700 6.25 54.64 =1 AN 47 =R 1.7
12 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 401-3 1,000,000 65,700 78,800 5.75 54.64 =1 AN 47 =R 1.7
13 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 402-1 1,000,000 | 113,200 135,800 10.2 46.77 =1 AN 47 =H 1.7
14 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 402-2 1,000,000 96,900 116,300 873 46.77 =1 AN 47 =R 1.7
15 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 403-1 1,000,000 91,900 110,300 9.3 38.85 =1 AN 47 =R 1.7
16 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 403-2 1,000,000 75,900 91,100 7.68 38.85 =1 AN 47 =R 1.7
17 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 501-1 1,000,000 | 178,400 214,100 16.8 57.7 =1 AN 47 =R 1.7
18 MO &+ Of= A 241L+Z 5-8 (2= 195-9) 501-2 1,000,000 79,000 94,800 7.44 57.7 =1 AN 47 =H 1.7
19 MO+ Of= A3 241L1Z 5-8 (22 = 195-9) 502-1 1,000,000 | 121,100 145,300 10.23 46.77 =1 AN 47 =R 1.7
20 MO+ Of= A5 241LLZ 5-8 (22 = 195-9) 502-2 1,000,000 84,400 101,300 7.13 46.77 =1 AN 47 =2H 1.7
21 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 201-1 1,000,000 | 156,000 187,200 11.55 63.23 (o] HX| 0.64 SIEQe
22 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 201-2 1,000,000 87,500 105,000 6.48 63.23 (o] HX| 0.64 SIEQe
23 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 201-3 1,000,000 74,500 89,400 5.52 63.23 (o] HX| 0.64 SIEQe
24 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 202-1 1,000,000 | 156,000 187,200 11.55 63.23 (o] HX| 0.64 SIEQe
25 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 202-2 1,000,000 87,500 105,000 6.48 63.23 (o] HX| 0.64 SIEQe
26 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 202-3 1,000,000 74,500 89,400 5.52 63.23 (o] HX| 0.64 SIEQe
27 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 301-1 1,000,000 | 156,000 187,200 11.55 63.23 (o] HX| 0.64 SIEQe
28 MO+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 301-2 1,000,000 87,500 105,000 6.48 63.23 (o] HX| 0.64 SIEQe
29 MCHES Of= HX|ICH5Z 28-10 (E71x= 5-31) 301-3 1,000,000 74,500 89,400 5.52 63.23 (o] HX| 0.64 SIEHQe
30 MCHES Of= HX|ICH5Z 28-10 (E71x= 5-31) 302-1 1,000,000 | 156,000 187,200 11.55 63.23 (o] HX| 0.64 SIEHQe
31 MCHES Of= HX|ICH5Z 28-10 (E71x= 5-31) 302-2 1,000,000 87,500 105,000 6.48 63.23 (o] HX| 0.64 SIEHQe
32 MCHES Of= HX|ICH5Z 28-10 (E71x= 5-31) 302-3 1,000,000 74,500 89,400 5.52 63.23 (o] HX| 0.64 SIEHQe
33 MO &+ Of= HX|ICH5Z 28-10 (E71x= 5-31) 401-1 1,000,000 | 146,800 176,200 10.89 52.63 =1 HX| 0.64 SIEQe
34 MO &+ Of= HX|ICH5Z 28-10 (E7tx= 5-31) 401-2 1,000,000 | 112,800 135,400 8.37 52.63 =1 HX| 0.64 SIEQe
35 MO &+ Of= HX|ICH5Z 28-10 (E71x= 5-31) 402-1 1,000,000 | 137,800 165,400 11.55 57.67 =1 HX| 0.64 SIEge
36 MO &+ Of= HX|ICH5Z 28-10 (E7tx= 5-31) 402-2 1,000,000 74,100 88,900 6.21 57.67 =1 HX| 0.64 SIEQe
37 MO &+ Of= HX|ICH5Z 28-10 (E71x= 5-31) 402-3 1,000,000 65,900 79,100 5.52 57.67 =1 HX| 0.64 SIEQe
38 MO &+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 501-1 1,000,000 | 117,500 141,000 9.3 39.6 =1 HX| 0.64 SIEge
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39 MO &+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 501-2 1,000,000 69,800 83,800 5.52 39.6 =1 HX| 0.64 SHEHel S
40 MO &+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 502-1 1,000,000 | 122,200 146,600 9.92 52.96 =1 HX| 0.64 SHEHel S
41 MO 2+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 502-2 1,000,000 73,700 88,400 5.98 52.96 =1 HX| 0.64 SIEge
42 MO 2+ Of= HX|ICH5Z 28-10 (E71xk= 5-31) 502-3 1,000,000 51,900 62,300 421 52.96 =1 HX| 0.64 SIEHge
43 254 Of= odat=Z6Z 6-15 (9= 60-37) 201-1 1,000,000 | 173,100 207,700 10.73 53.94 (o] HX| 3 2o 0.95
44 2m Of= odatZ6Z 6-15 (== 60-37) 201-2 1,000,000 99,700 119,600 6.18 53.94 (o] HX| 3 2o 0.95
45 2m Of= odat=Z6Z 6-15 (== 60-37) 201-3 1,000,000 89,600 107,500 5.55 53.94 (o] HX| 3 2o 0.95
46 2o Of= odat=Z6Z 6-15 (9= 60-37) 301-1 1,000,000 | 173,100 207,700 10.73 53.94 (o] HX| 3 2o 0.95
47 2o Of= odat=Z6Z 6-15 (9= 60-37) 301-2 1,000,000 99,700 119,600 6.18 53.94 (o] HX| 3 2o 0.95
48 2gy Of= odatZ6Z 6-15 (9= 60-37) 301-3 1,000,000 89,600 107,500 5.55 53.94 (o] HX| 3 2o 0.95
49 2gy Of= odatZ6Z 6-15 (¥9== 60-37) 401-1 1,000,000 | 127,200 152,600 9.06 46.82 =1 HX| 3 2o 0.95
50 2" Of= odat=z262Z 6-15 (9=3= 60-37) 401-2 1,000,000 87,600 105,100 6.24 46.82 =1 HX| 3 29 0.95
51 2" Of= odat=z262Z 6-15 (9=3= 60-37) 401-3 1,000,000 86,500 103,800 6.16 46.82 =1 HX| 3 29 0.95
52 2" Of= odat=z26Z 6-15 (9== 60-37) 403-1 1,000,000 [ 150,400 180,500 951 53.73 =1 HX| 3 29 0.95
53 2" Of= odat=z26Z 6-15 (9=3= 60-37) 403-2 1,000,000 [ 100,400 120,500 6.35 53.73 =1 HX| 3 29 0.95
54 2" Of= odat=z26Z 6-15 (9=3= 60-37) 403-3 1,000,000 98,500 118,200 6.23 53.73 =1 HX| 3 29 0.95
55 2" Of= odat=z262Z 6-15 (9=3= 60-37) 501-1 1,000,000 [ 124,300 149,200 9.06 46.82 =1 HX| 3 29 0.95
56 2" Of= odat=z26Z 6-15 (9=3= 60-37) 501-2 1,000,000 85,600 102,700 6.24 46.82 =1 HX| 3 29 0.95
57 2" Of= odat=z26Z 6-15 (9=3= 60-37) 501-3 1,000,000 84,500 101,400 6.16 46.82 =1 HX| 3 29 0.95
58 2" Of= odat=z26Z 6-15 (9=3= 60-37) 503-1 1,000,000 [ 147,100 176,500 951 53.73 =1 HX| 3 29 0.95
59 2"y of=z odatz26Z 6-15 (9=3= 60-37) 503-2 1,000,000 98,200 117,800 6.35 53.73 =1 HX| 3 2ed 0.95
60 2"y of=z odatz26Z 6-15 (9=3= 60-37) 503-3 1,000,000 96,300 115,600 6.23 53.73 =1 HX| 3 2ed 0.95
61 23 of=z 2EHEHYZ 182-51 (AMAFS 200-140) 101-1 1,000,000 [ 158,700 190,400 11.67 7242 o HX| 2 MAE A 0.78
62 2% of=z 2EHEHYZ 182-51 (AMAFS 200-140) 101-2 1,000,000 [ 128,400 154,100 944 7242 o HX| 2 MAE A 0.78
63 2% of=z 2EHEHYZ 182-51 (AMAFS 200-140) 101-3 1,000,000 [ 104,600 125,500 7.69 7242 o HX| 2 MAE A 0.78
64 23 of=z 2EHEHYZ 182-51 (AMAFS 200-140) 102-1 1,000,000 94,700 113,600 10.75 29.84 o HX| 2 MAE A 0.78
65 23 of=z 2EHEHYZ 182-51 (AMAFS 200-140) 102-2 1,000,000 60,400 72,500 6.85 29.84 o HX| 2 MAE A 0.78
66 23 of=z 2EHEHYZ 182-51 (AMAFS 200-140) 201-1 1,000,000 [ 158,700 190,400 11.67 7242 o HX| 2 MAE A 0.78
67 2% of=z 2EHEHYZ 182-51 (AMAFS 200-140) 201-2 1,000,000 [ 128,400 154,100 944 7242 o HX| 2 MAE A 0.78
68 2% of=z 2EHEHYZ 182-51 (AMAFS 200-140) 201-3 1,000,000 [ 104,600 125,500 7.69 7242 o HX| 2 MAE A 0.78
69 2Hs of= 2HEHYZ 182-51 (AMAFS 200-140) 202-1 1,000,000 94,700 113,600 10.75 29.84 o HX| 2 MAE A 0.78
70 2Hs of= 2HEHYZ 182-51 (AMAFS 200-140) 202-2 1,000,000 60,400 72,500 6.85 29.84 o HX| 2 MAE A 0.78
71 2Hs of= 2HEHYZ 182-51 (AMAFS 200-140) 302-1 1,000,000 91,700 110,000 10.75 29.84 =1 HX| 2 MAE A 0.78
72 2Hs of= 2HEHYZ 182-51 (AMAFS 200-140) 302-2 1,000,000 58,400 70,100 6.85 29.84 =1 HX| 2 MAE A 0.78
73 23 of=z 2EHEHYZ 182-51 (AMAFS 200-140) 402-1 1,000,000 89,700 107,600 10.75 29.84 =1 HX| 2 MAE A 0.78
74 2%y of=z 2EHEHYZ 182-51 (AMAFS 200-140) 402-2 1,000,000 57,100 68,500 6.85 29.84 =1 HX| 2 MAE A 0.78
75 2-3 24 245237712 8-8 (&5 =285-106) 101-2 1,000,000 32,300 38,800 7 34.28 =1 SiEole AALHSA 1.26
76 2- 24 245237712 8-8 (&$d=285-106) 201-1 1,000,000 86,800 104,200 12.92 72.38 =1 SiEole AALHSA 1.26
77 2R SHE | OfKFAtE65Z 85, AS (F9|=224-5 (AS))| 202-3 1,000,000 34,400 41,200 547 53.7 =1 = 1.8 O 0.86
78 2RI SHE X244 135 (7+2|=35-9) 101-2 1,000,000 41,600 50,000 6.07 40.5 o = 2.62 OfXpALSA 1.03
79 | MOj&+F+ of= HX|ICH5Z 28-14 (E71x=5-30) 101-1 1,000,000 64,000 76,800 144 4755 Lk HX| 0.36 MAE A 1.0
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80 | MOj&+ Of= HX|CH52Z 28-14 (H7+%H=5-30) 102-2 1,000,000 37,500 45,000 8.12 50.8 =1 HX| 0.36 MES 1.0
81| MOI&+ Of= HX|CH52Z 28-14 (H7+%xH=5-30) 102-3 1,000,000 34,900 41,800 7.56 50.8 =1 HX| 0.36 MES 1.0
82 2m o 2EHZ13Z 28 (5H=154-34) 402-3 1,000,000 53,800 64,500 7.29 53.37 (o] HX| 2.89 oA=9 043
83 e P AFE21362Z 35 (=31=108-10) 301-3 1,000,000 | 103,300 123,900 8.58 75.87 (o] SIEQS A Sl 0.407
84 e P AFE 21362 35 (=31=108-10) 201-1 1,000,000 | 177,900 213,400 27.36 27.36 (o] SIEQS A ] 0.407
85 e P B2A21Z 42-25 (=35166-14) 101-1 1,000,000 | 231,400 277,600 26.88 4458 (o] SIEQS =3 0.694
86 MNEZ NE SARRZ 25-14 (A2 =5171136) 301-2 1,000,000 80,600 96,800 8.64 47.88 =1 Sk 1.11 sStMOfel o 0.29
87 ZMF PAN| S 2552 5 (EE=5651-10) 202-2 1,000,000 57,700 69,200 5.06 29.56 =1 dg|AaE 142 sS=d9 0.59
88 ZMF PAN| S 2552 5 (EE=5651-10) 203-1 1,000,000 | 160,700 192,800 8.79 515 =1 dg|AaE 142 sS=d9 0.59
89 ZMF PAN| S 2552 5 (EE=5651-10) 203-2 1,000,000 | 126,300 151,500 6.91 515 =1 dg|AaE 142 sS=d9 0.59
90 ZMF PAN| S 2552 5 (EE=5651-10) 402-2 1,000,000 85,400 102,400 6.64 525 =1 dg|AaE 142 sS=d9 0.59
91 Seht SHE 2732 84-20 (L L2=206-8) 201-2 1,000,000 20,900 25,000 5.63 37 =1 S 24 2 0.5
92 Seht SHE MEZ]I5Z 49 (HES1252) 301-2 1,000,000 73,900 88,600 6.78 29.88 o S 1.79 HE 1
93 Seht SHE MEZI5Z 49 (HES1252) 302-1 1,000,000 [ 140,600 168,700 10.36 36.75 o S 1.79 HE 1
94 Seht SHE MEZ]I5Z 49 (HES1252) 403-2 1,000,000 59,300 71,100 5.24 29.76 o S 1.79 HE
95 Seht SHE SA=Z1572H4 17-1 (E=240-126) 502-2 1,000,000 [ 144,100 172,900 747 5991 | s e=2 o 3.26 HEA 0.3
96 zES NE SER 21222 34 (H5454-39) 201-2 1,000,000 66,600 79,900 6.75 4752 o =M O R} 2.94 =99 0.99
97 zES NE SR 21222 34 (H5454-39) 201-3 1,000,000 59,200 71,000 6 4752 o =M O R} 2.94 =9 d 0.99
98 zES NE SR 21222 34 (H5454-39) 301-3 1,000,000 59,200 71,000 6 4752 o =M O R} 2.94 =9 d 0.99
99 zES NE SR 21222 34 (H5454-39) 401-2 1,000,000 64,300 77,100 6.75 4752 o =AM O R} 2.94 =9 d 0.99
100 ekt 2ot HES52 1677-14 (2 H5949-10) 201-1 1,000,000 92,500 111,000 11.39 45.45 =1 MNE 341 289 0.55
101 MCHEF of=z SI7I212L+4 59 (B7}%xHE3-32) B101-2 1,000,000 26,500 31,800 6 5451 =1 HX| 0.32 SAA 0.98
102 2™ 24 AMZ241Z 27 (E2-5441-16) 301-1 1,000,000 [ 134,500 161,400 14.04 5841 =1 SiE oS AAMLY A 1.14
103 SAL 2ot AEF220CHE 31 (AR =316-180,181) 401-1 1,000,000 [ 153,800 184,600 10.23 37.38 =1 =AM 1.5 Mo 0.85
104 SAL 2ot AEF220C1E 31 (AR =316-180,181) 502-2 1,000,000 91,700 110,000 6.24 37.38 =1 =AM 1.5 Mo 0.85
105 NEZR NE MEAZ2Z 26-3 (AEZTF29-44) B101-1 1,000,000 79,900 95,800 12.92 62.4 =1 SEHO X}t 0.78 MEad 0.17
106 NEZR NE MEAZ2Z 26-3 (AETF29-44) B101-3 1,000,000 38,400 46,000 6.21 62.4 =1 SEHO X}t 0.78 MEad 0.17
107 Ofz of=z MEAHZ 7 (M4 AHS200-359) 301-3 1,000,000 79,900 95,800 7.05 92.34 =1 k=iel] 2.25 ] ey s ge: 0.37
108 Ofz of=z MAZ6Z 21-10 (HAS71-2) 401-1 1,000,000 [ 109,900 131,900 10.8 37.82 =1 k=iel] 2.02 ] ey s ge: 0.61
109 Ofz of=z MAZ6Z 21-10 (HAS71-2) 501-1 1,000,000 [ 101,700 122,000 10.2 36.14 =1 k=iel] 2.02 ] ey s ge: 0.61
110 ofz 3 of= MAZ6Z 21-10 (HALS71-2) 501-2 1,000,000 62,200 74,600 6.24 36.14 =1 =9 2.02 ] ey e: 0.61
111 PA - NE Ol=E 2752 34 (=85540-20) 201-1 1,000,000 66,600 79,900 11.88 41.28 =1 =AM O] R} 1.64 *=9d 240
112 PA - NE Ol=E 2752 34 (£=85540-20) 201-2 1,000,000 47,000 56,400 84 41.28 =1 =AM O] R} 1.64 *=9d 240
113 PA - NE Ol=E 2842 15 (=8 5569-46) 202-2 1,000,000 86,900 104,200 891 4356 o =AM O] R} 0.9 *=9d 2.1
114 gL NE Ol=E2842Z 15 (=8 5569-46) 401-3 1,000,000 58,700 70,400 8.25 56.58 o S M O R} 0.9 *=9d 2.1
115 gL NE Lol233Z 20-7 (=8 5721-2) 201-2 1,000,000 35,500 42,600 5.28 37.74 o =AM O R} 0.88 *=9d 1.36
116 gL NE Lol233Z 20-7 (=8 5721-2) 402-2 1,000,000 46,100 55,300 5.46 37.8 o S M O R} 0.88 *=9d 1.36
117 gL NE Lol233Z 20-7 (=8 5721-2) 501-3 1,000,000 39,500 47,400 5.06 46.7 o =AM O R} 0.88 *=9d 1.36
118 ekt 2ot Ha 2342 33 (M2l5626-15) 402-3 1,000,000 79,600 95,500 6.75 54.99 =1 MNE 3.31 AlEl 1.84
119 e el L2 209-18 (M E=137-121) 201-1 1,000,000 [ 110,600 132,700 11.22 59.18 Lk SiEole MEA 0.64
120 e el L2 209-18 (M E=137-121) 202-2 1,000,000 [ 106,800 128,100 891 58.29 Lk SiEole MEA 0.64
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121 =85+ e 5|2 209-18 (AE-5137-121) 202-3 1,000,000 66,100 79,300 5.52 58.29 = SIS QS MNEA 0.64
122 =85+ e 5|2 209-18 (AE-5137-121) 203-1 1,000,000 | 127,900 153,400 11.22 64.08 = SIS QS MNEA 0.64
123 =85+ e 5|2 209-18 (AE5137-121) 301-1 1,000,000 | 110,600 132,700 11.22 59.18 = SIS S agoe:! 0.64
124 =85+ e 5|2 209-18 (AE5137-121) 301-3 1,000,000 70,200 84,200 7.13 59.18 = SIS agoe:! 0.64
125 =85+ e 5|2 209-18 (AE5137-121) 303-3 1,000,000 81,200 97,400 7.13 64.08 = SIS S agoe:! 0.64
126 =85+ e L0|MZ32Z 94 WEE273-30) B101-1 1,000,000 24,700 29,600 10.15 4455 = oM o K} 1.00 SIEge
127 =8+ e L0|MZ32Z 94 WEE273-30) B101-2 1,000,000 18,200 21,800 7.5 4455 = o4 0o X} 1.00 sIEge
128 =5+ e L0|MZ32Z 94 WEE273-30) B101-3 1,000,000 15,500 18,600 6.38 4455 = o4 0o X} 1.00 SIEge
129 =85+ e LO0|MZ34Z4 43 (W2 -5287) 203-1 1,000,000 | 133,800 160,500 1147 53.32 (o] oM o K} 1 YESA 1.09
130 =8+ e LO0|MZ34Z4 43 (W2 -5287) 203-3 1,000,000 67,100 80,500 5.76 53.32 (o] oM o X} 1 YESA 1.09
131 =85+ e LO0|MZ34Z4 43 (M2 -5287) 303-2 1,000,000 67,100 80,500 5.76 53.32 (o] oM o K} 1 YESA 1.09
132 =85+ | LO0|HZ34Z 43 W E5287) 303-3 1,000,000 67,100 80,500 5.76 53.32 (o] S8 0o X} 1 NEA 1.09
133 ==+ | LO0|HZ34Z 43 M E5287) 401-1 1,000,000 | 118,300 141,900 10.85 53.63 (o] S8 0o X} 1 NEA 1.09
134 =85+ | LO0|HZ34Z 43 W E5287) 401-3 1,000,000 73,200 87,800 6.72 53.63 (o] S8 0o X} 1 NEA 1.09
135 =84 | LO0|HZ34Z 43 W E5287) 402-2 1,000,000 75,700 90,800 6.72 54.79 (o] S8 0o X} 1 NEA 1.09
136 ==+ | LO0|HZ34Z 43 M E5287) 403-1 1,000,000 | 129,800 155,700 11.47 53.32 (o] S8 0o X} 1 NEA 1.09
137 =8+ | LO0|HZ34Z 43 M FE5287) 403-2 1,000,000 65,100 78,100 5.76 53.32 (o] S8 0o X} 1 NEA 1.09
138 ==+ | LO0|HZ34Z 43 M E5287) 502-2 1,000,000 77,300 92,700 7.5 59.28 (o] S8 0o X} 1 NEA 1.09
139 ==+ | LO0|HZ34Z 43 M E5287) 502-3 1,000,000 77,300 92,700 7.5 59.28 (o] S8 0o X} 1 NEA 1.09
140 ==+ | L2414 57 (WES5294-19) 401-3 1,000,000 44,800 53,700 744 42 (o] S8 0o X} 0.71 sIEge
141 ==+ L L2414 57 (WES294-19) 402-3 1,000,000 44,800 53,800 5.88 45.65 (o] S8 0o X} 0.71 sIEgle
142 ==+ L L2424 14 (A FE-S340-3) 201-3 1,000,000 52,100 62,500 6.24 53.02 (o] =M 0o X} 111 sIEgle
143 ==+ L L2424 14 (A FE-S340-3) 202-3 1,000,000 54,800 65,700 6 57.39 (o] =M 0o X} 111 sIEgle
144 ==F L L2424 14 (A FE-S340-3) 203-2 1,000,000 51,800 62,100 6.21 52.98 (o] S8 0o X} 111 sIEgle
145 ==+ L L2424 14 (A FE-S340-3) 403-2 1,000,000 53,800 64,600 5.89 441 (o] S8 0o X} 111 sIEgle
146 ==+ L L2424 14 (A ES340-3) 502-3 1,000,000 50,400 60,500 6.48 51.06 (o] =M 0o X} 111 sIEgle
147 ==+ L L2372 106 (A E2S5414-128) 104-2 1,000,000 20,500 24,600 5.28 41.73 =1 =M 0o X} 042 sIEgle
148 ==+ L LS 237Z4 106 (A E2S414-128) 301-3 1,000,000 92,400 110,800 891 7742 =1 S8 0o X} 042 sIEgle
149 ==+ L LO0|HZ42714 12 (W ES472-8) 302-2 1,000,000 | 130,900 157,000 9.6 50.7 (o] S8 0o X} 1 = d 0.99
150 ==+ L LO0|HMZ42714 12 (W ES472-8) 402-1 1,000,000 | 137,300 164,700 12.87 454 q S8 0o X} 1 = d 0.99
151 ==+ g LO0|HZ 482 (W E5520-27) 403-3 1,000,000 41,200 49,400 5.13 58.53 q S8 0o X} 0.72 sIEgle
152 s+ PAL S22 o 298714 58 (2 AIE5492) 201-2 1,000,000 77,300 92,700 6.47 41.89 q SiEole Al gNge:! 0.61
153 s+ PAL S22 o 298714 58 (2 AIE5492) 302-2 1,000,000 63,200 75,800 6.24 50.82 q SiEole Al gNge:! 0.61
154 Zs+ PAL S22 o 298714 58 (2 AIE5492) 401-1 1,000,000 93,800 112,500 832 41.89 q SiEole Al gNge:! 0.61
155( s+ PAL AU 21724 49-4 (A AHS492-10) 202-1 1,000,000 85,300 102,300 119 47.03 =1 SiEole Al gNge:! 0.65
156 s+ PAL AU 21724 49-4 (A AHS492-10) 203-3 1,000,000 52,800 63,300 6.12 50.95 =1 SiEole Al gNge:! 0.65
157 4=+ PAL AU 21724 49-4 (A AHS492-10) 301-1 1,000,000 95,600 114,700 119 37.63 =1 SiEole Al gNge:! 0.65
158 s+ PAL AU 21724 49-4 (A AHS492-10) 302-2 1,000,000 60,500 72,600 85 47.03 =1 SiEole Al gNge:! 0.65
159 s+ PAL AU 21724 49-4 (A AHS492-10) 303-1 1,000,000 | 102,800 123,300 119 50.95 =1 SiEole Al gNge:! 0.65
160 Zs+ PA At =172 49-4 (2 AHS492-10) 304-1 1,000,000 | 105,700 126,800 119 50.95 =1 SiEole 2l N ge:! 0.65
161 Zs+ PA At =172 49-4 (2 AHS492-10) 304-2 1,000,000 54,300 65,100 6.12 50.95 =1 SiEole 2l N ge:! 0.65




ol m | e NESNEESY sy |agesa | sax |wsan| S22 |mmes|ge| oo | O X812 71l
Sl s (km) (km)
162 z=F P ArQt217Z 49-4 (2 AFS492-10) 304-3 1,000,000 60,000 72,000 6.76 50.95 =1 SIS QS SrALH 0.65
163 zeT P AL 2122 18-6 (H4AH=834-24) 101-2 1,000,000 55,800 67,000 9.72 38.78 =1 SIS QS PAST | 1.04
164 gy Of= AMZ3LEZ 12 (9E=2565-41) 101-1 1,000,000 49,700 59,600 13.7 46.15 (o] HX| 2.36 2o 0.47
65| e®7 | of= AL 222 16 (AE547-44) 101-3 | 1,000,000| 22500 27,000| 58 4288 | o o x| 269 Sorol 0.84
166 2H4 of= oatz222 16 (9Z=3=55-11) 102-2 1,000,000 39,000 46,800 731 4578 =1 HX| 3.15 2ed 0.93
167| 2" of= A 242 6-5 (HE=Z57-8,9) 301-1 1,000,000 73,900 88,700 10.88 52.63 o 7|1= 0.56 2ed 0.92
168 2™ of= A =242 6-5 (H=Z57-8)9) 402-2 1,000,000 48,200 57,800 9.36 4406 =1 7|1= 0.56 22 0.92
169 L2F Cx | 2H 244712 29-5 (A =534-89) 202-2 1,000,000 46,400 55,600 7.84 65.07 o 22 /015 (0.40/1.39 SHCHel S
170 =QIF L8l 2H 244712 29-5 (A =534-89) 202-3 1,000,000 39,800 47,700 6.72 65.07 o 22 /015 (0.40/1.39 SHCHel S
171 gl P ZElEZ212Z 54-4 (RA5226-19) 202-2 1,000,000 62,900 75,400 8.75 41.2 o SIS AMAEA 0.979
172 NE NE HIAZZ8CHZ 11 (HE5206-48) B102-1 1,000,000 15,200 18,200 7.5 30.02 =1 ISPE! 143 pAR=Ye:| 1.68
173 HNE3 NE BHIZEZ8CHZ 11 (HE35206-48) B102-2 1,000,000 14,700 17,600 7.25 30.02 =1 ISPZ] 143 pAR=Ne:| 1.68
174 NE3 NE BHIZEZ8CHZ 11 (HE35206-48) 303-1 1,000,000 45,300 54,300 10.5 32.64 (o] ISPZ] 143 pAR=Ne:| 1.68
175 HNE3 HNE MZZE21Z 57-4 (BE5266-488) 301-1 1,000,000 | 137,900 165,400 992 50.8 =1 ISPZ] 1.40 pAR=Ne:| 2.35
176 NE3 NE SMZ6Z 36-7 (HE5372-17,18) 203-1 1,000,000 | 106,000 127,200 12.25 4955 (o] =0l 141 pAR=Ne:| 221
177 NE HNE SMZ6Z 36-7 (HE5372-17,18) 302-2 1,000,000 77,100 92,500 7.8 59.95 =1 =0l 141 pAR=Ne:| 221
178 HNE3 NE SMZ6Z 36-7 (HE5372-17,18) 302-3 1,000,000 77,100 92,500 7.8 59.95 =1 =0l 141 pAR=Ne:| 221
179 NE3 NE B2 2122 15-1 (HE25402-153) 302-3 1,000,000 58,700 70,400 7.02 51.96 =1 =0l 1.65 pAR=Ne:| 1.89
180 NE HNE BHZ2E2212Z 15-1 (HE25402-153) 501-1 1,000,000 99,200 119,000 11.52 30.46 =1 =0l 1.65 pAR=Ne:| 1.89
181 HNE3 NE SotAZ1LEZ 30 (HE3508-64) 201-2 1,000,000 42,000 50,400 6.72 4855 (o] =0l 251 o le:lu Rolge:| 2.29
182 NE3 e SoAZ1LEZ 30 (HE3508-64) 302-1 1,000,000 62,300 74,700 9.61 4855 =1 =0l 251 papale:ln Rolge:| 2.29
183 NE3 e SotAZ1LEZ 30 (HE3508-64) 302-3 1,000,000 37,300 44,700 5.76 4855 =1 =0l 251 papale:lu Rolge:| 2.29
184 NE3 e SotAZ1LEZ 30 (HE3508-64) 304-3 1,000,000 37,300 44,700 5.76 4855 =1 =0l 251 papale:ln Rolge:| 2.29
185 NE3 e SoAZ1LEZ 30 (HE3508-64) 403-2 1,000,000 41,100 49,300 6.72 4855 (o] =0l 251 papale:ln Rolge:| 2.29
186 NE3 e SoAZ1LEZ 30 (HE3508-64) 404-3 1,000,000 35,200 42,200 5.76 4855 (o] =0l 251 papale:ln Rolge:| 2.29
187 g8 aqE SMZ 22 (HE5697-1) 302-2 1,000,000 55,900 67,000 5.5 54.39 =1 =0l/M4 |[1.13/2.08 pAR=Ne:| 2.35
188 g8 o= SMZ 22 (HE5697-1) 303-3 1,000,000 50,200 60,200 5.28 50.57 =1 =0l/M4 |[1.13/2.08 pAR=Ne:| 2.35
189 z=s3 P HEZ 67-4 (H25307-2) 102-1 1,000,000 84,800 101,700 12.6 5248 =1 SIS QS SrALH 0.859
190 z=s3 P HEZ 67-4 (H255307-2) B102-2 1,000,000 31,000 37,200 6 52.48 =1 SIS QS SrALH 0.859
191 z=s3 P HEZ 67-4 (H255307-2) B102-3 1,000,000 34,800 41,700 6.72 52.48 =1 SIS QS SrALH 0.859
192 =24 HNE TWEZ 14-9 (WE=327-1) 301-1 1,000,000 85,000 102,000 10.89 57.63 =1 At 1.55 SIEHQe
193 =24 e TWEZ 14-9 (WE=327-1) 301-2 1,000,000 68,300 81,900 8.75 57.63 =1 At 1.55 SIEHQe




